CHAPTER -2
SECTORS OF INDIAN ECONOMY

MULTIPLE CHOICE QUESTIONS:

Q.1: Which sector has gained more importance in last thirty years in India?

a) Primary b) Secondary c) Tertiary  d) All of the above
Q.2: Which among the following sectors is employing the maximum population in India?
a) Secondary b) Primary c¢) Tertiary d) All of the above

Q.3: Sectors are compared on the bases of

a) Income earned b) GDP rate c) Employment offered d) All of the above
Q.4: Under-employment occurs when people

a) Do not want to work b) Are working in a lazy manner

c) Are working less than what they are capable of doing d) are not paid for their work
Q.5: The scheme launched by the government for ‘Right to work’ in September 2005

a) NREGA b) AAY c) PMRY d) None of the above

ONE WORD ANSWER QUESTIONS:

Q.1: When the economy is divided into number of units, each unit is known as
Q.2: The number of sectors Indian economy is divided is
Q.3: When the person is willing to work, but is not able to find the jOb then he is termed as

Q.4: The sector WhICh is contributing more towards the GDP in India is

Q.5: The value of final goods and services produced in each sector during a partlcular year is
termed as

SHORT ANSWER TYPE QUESTIONS:

Q.1: Discuss the various sectors of Indian economy.

Q.2: How are Primary, Secondary and Tertiary sectors interdependent?

Q.3: Explain why tertiary sector has replaced the primary sector in production.
Q.4: Discuss the objectives of NREGA scheme.

Q.5: How can we protect the workers in an unorganized sector?

HIGH ORDER THINKING SKILL QUESTIONS:

Q.1: Workers are exploited in the unorganized sector. Explain this statement with reasons.
Q.2: How would income and employment increase if farmers are provided irrigation and
marketing facilities?

ACTIVITY:

Prepare charts on Primary, Secondary and Tertiary sectors. Show, how these three sectors
are inter-related in their contribution towards economy.



